L

Aluminium Spacer

m 56 6_

2x Flange Nuts M8

D20x8,5xn 16
P/N 202497

Muffler |
P/N 309746481

spring tensile
P/N 303949001

2x Short helical

P/N 200298

'Carbon Bracket

P/N 0815261501

75

D9

S.S. Flange - 45D
P/N 204680

7/

v7—}bike's frame]

T

3x S.S. Washer

—@22x8,5xn 11
P/N 205090

Aluminium Spacer

S.S. Secondary Pipe
P/N 3015261203

M8X16
P/N 200294

S.S. Primary Pipe

P/N 3015261201

2x Allen Head Screw
-M8X20
P/N 200722

Lambda probe
M18X1.5 h9

M8X40
P/N 200993

Allen Head Screw

ART. 15261

BENELLI TNT TORNADO NAKED T 125/135
FULL SYSTEM 1/1 LV-10 STAINLESS STEEL

+ S P——1025X8,5-n25

P/N 204689

S.S. Flange - 45D
P/N 204680

Allen Head Screw
-M8X55
P/N 200331

QE35 @28

Aluminium Spacer

P/N 204891

OPTIONAL] /L /%
P/N 5684 ‘

Lambda adapter
M18 to M12 T
P/N 204158

Lambda Gasket
23,85x18,3x1,5
P/N 202185




	DT-15261
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3
	Vista del disegno4


